
1. a)

Unit - I
[ Marks: 10 1

Define and illustrate any' three of the following metres:

~ Q.T c<!SR ~ ~ ~~ ~'l w., :
~t ~, ~i1fq~Mi1l1, ~, f~I@Ron I•..•. .....: ~ ...•

b) Scan and define any two of the following metres:

3x2=6
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~ 1T~ ~ \5l<ffiT C01~ <n~o1hr I

~ "'~~~M "1~ ~ I

2x2=4
~ Q.T c<!SR ~ ~~~~ ~ Roffi ~ :
i) ~ fu' ~ ~ 'iICfr1I'illOO(l ii) ~ ~ f-i{ll1i1CfclCfill1l: I

iii) \OI('lffYi1~lfl ~ql;:fHl\l1ll iv) ~ fu ~ ~ ~ I

v) ~ fllff fl04Cfi{OI ~ I

Unit - II
[ Marks: 10 1

2. a) Decline any five of the following: 5 x 1 = 5

~ Q.T c<!SR ~ ~9f Roffi ~ :
i) ~ in >T'lfl1T~ ii) fQq in ~ QCfiqiH

iii) ~ in ~ QCfiq-q'i iv) ~ in ~ ~§q-q'i

v) 11fu in ftft<n ~ vi) 31TrlF[ in ~ ~§q-q'i

vii) ~ in WF1T~§q-q'i viii) ~ in ~ QCfiq-q'i I
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b) Conjugate any five of the following:
~ 8f c<Wf ~.~9f~"fl :
i) ~ in ~ 2nd person singular
ii) ~ in ~ 2nd person plural
iii) Cf in <R. 1st person dual
iv) ~ in ~ 2nd person singular
v] q in ~ 3rd person plural
vi) ~ in ~ 1st person plural
vii) ~ in ~ 3rd person singular
viii) ~ in ~ 1st person dual.

5 x 1 = 5

r

3.

Unit - III
[ Marks: 40 l

Bring out the dramatic significance of the 5th act of Svapnavasavadattarn, 12
~~<lP1<l"fI(3~ ~ 9fl:!3~ ~ \5l~~~9 ~I

OR/~
Compare the characters of Padmavatl and Vasavadatta.
~ '6 <l1>l<lql(3!~ ~ ~G1'i!1G1<P \5l!CG1!b'i! ~ I

OR/~
Assess the role of Vidusaka as a friend of Udayana.

i;"f?'lC"i~ ~9f P1~C<P~ ~~<P!~ '1G1ffiR ~ I
Translate into Bengali or English anyone of the following:

~ 8f c<lSR I.!l~ <1RG11~ ~~~ ~ ~ :

~:rot III ('1i "q ~ "q "ffi"i ('1i "q

fl41Moi:(lq"ifC:(Y1i "q frjq<i~f11

frj 4iZl 11H 'Ij)\1jln eo { frj lO\ (1fll

:Hl111fA q Ik'f{ ('1(1fll fu'4 \1'lI11H 111I I
. --

a)

b) 6

OR/~
"@1lT qlfllQ('1I: flf~(Y1l1qlll~l ~:

~sfT;:rmfu ~fCliHf('1 ~ l3;frjq"l{ I

1lft~ ~ tf6rm "q m~41fCf){Oll

"{?i clllq~\«1 ~fCl:(lf(1 :(1~{iiIfI(R~Hl{11

OR/~
Write short notes on any two of the following:
~ 8f c<lSR ~ ~9@ ~~~~ m-<m ~"fl :

~ I)

i) {1\i1lJt\l{ ii) EfitS!*"tI iii) '6I1Oql"l iv) (Y1lqIOICfl~II1: I

2x3=6
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c) Explain anyone of the following verses: 7
~ QT <:<rSR I.!I~ ~ <m~ ~ :
i) ~ ~ llf1~Cll1ltflT.€t(1It4 llfl4&lffi Ij'iFo!"1~'i ~: I

Cf)1(1~~OI~: qn:ClHl1HI iI~l{q:s.f.d'if{c1 ~ 'l1IH'I4:s.f"d1:II
ii) 1]UTRf OfTfOl~II(1Hi fl("':hl{loli ~ ~: I '

~: ~: ~ fc'l~If1I{«l ~: II
4.· a) What was Sukariaaa's advice to Candraptda ? Why did he do so? 10

'O~ ~~ ~ ~9WM NC?'lfil:'G1~ ? m~ ~9WM NC?'I~'G1~ ?

OR/~

'Cf)Ic;J<sHrhfl~Hll1l~I{1sN;:r~' - Justify this statement with reference to your
prescribed text.

'~Sjl;t~~~Pl\'iS3HI~I~I'~I~f9r ~ ~' - \!l~ ~ ~Q,ff~ ~~1'f '6l~G1~'''l ~9fWf

~I

b) Translate into Bengali or English anyone of the following passages: 5
H~M~ QT <:<rSR I!I~ '6liC~'t ~Haon ~ ~~~ ~ ~ :
i) lV=rID~ l'{f1I{Ollfl~f1-~ICl'1)q~("fI~ill"f1: I'IfOll'i?:lq{-~-

sllfqc:o,l1CSllsY/IM~IClllPt I (i:jll"f1n:f1-QffillMlil;::j fOI(1(1IC:l1l~I~~I
ii) FOiRoctc4f<;f1Cllfll~lf1flol~lI~fll tr 'i1~l1~q~l'i?:Clll1ffi11 ctlClt>1-:>iIf.R:rt=r ~

~'EJl1n'1IMlCf)i0'EJl1l'1l\lql'l'l1lq~lll1f('1ll~;::j c:ftoR ~ I

Unit -·IV
[ Marks: 15 J

5. a) Account for the case-endings in any six of the following underlined words:
6xl=6

~ QT <:<rSR~ 9fOOf ~-~ R~ ~ :
i) I'Ilfll~11 *~~ I vi) lV=rIDm ~ I

ii) cR: ~ fmJ: vii) ~:~: 'll'601l~ I
iii) ~ ~ ~ I viii) ~ ~ CllICf){Oltotl
iv) ~~I ix) 1lTq1Tft~~1

v) ~~:I x) ~~lffi1T~1
b) illustrate the uses of any two of the following :' 2 x 2 = 4

~ QT <:<rSR~ m?m~ ~~ ~. r

i) ~ ~ I . ii) CfilffUr ~ I
iii) 3i~fOlCf)I{~ I .' iv) \jl1\Q]..:.iI'l1IC1C1i1'iIf1,1
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c) Join in Sandhi ( any two) : 2 x 1 = 2
Ql"c<WI~~~:
i) for + ~: ii)~: + ~ iii)~ + ~: . iv) "3l1 + ~ I

d) Disjoin the Sandhis ( any three) 3 x 1 = 3
QI" c<WI ~ >1futf<lc~ ~ :~ ,.
i) (i<.I<.>-<-t: ii) ~ iii)~: iv)~: v)~: vi) q('1Wjf<"'l: I

Unit - V .
[Marks: 25]

6. Translate the following passage into Sanskrit: 10
~ \5liC~Yff&">j"~~ ~ ~ :

Iswar Chandra Vidyasagar was born in a poor Brahmin family in the village of
Birsingha. But he was meritorious and painstaking from his very boyhood. His
father brought him to Calcutta to give him education. In a short time he
completed his education with great success.
'5f~~bijif ~~ ~~~ mm ~<IS ~ Sf'lli'1 ~ ~~'1 <ffiR I ~ <Jl"1!<Pl"1C~
m ~ ~ '8~-~ I ~ f9f\5l R,*l'tl'"'l~ ~ ~ <Pf~l':P]\!)l~ Rur \5TWR I ~
~ ~ m >11~'''1!~ ~ ~ ~~ <ffiR I

OR/~
In ancient time, there was in the country of Kalinga a city, Sobhabati by name.
The city was ruled by Pradyumna, who was known for his great powers and
strength. There in a certain part he set up a village called Yajnasthala, inhabited
by.many Brahmins. There lived Brahmins well versed in, the Veda.
~ ~ ~ CX11~1;q~ onm ~<IS"~ ~I ~ '8 ~ 2J"IIffi onm C<PWn ~<IS ~

~ .,~ X\PR" ~ I ~ C<PR ~<IS ~t;ffif m .~' ~ Sf'lli'1 ~ c<WI ~<IS

~~~I ~~~~<n">1"~1

7. Read the followingpassage and answer the questions given below in Sanskrit:
~ \5liC~'tf& ~ ~ ~~~ ">j"~~ ~.~ :

~ siiQcl('1+"1m ~(Q'i<I<~ ~I rBf l?1C"lf.:(lI@{'tlOcOlCflOn-;:rn:r n~: I'lf('16I'8f('1~ '11'il'lqll!;: I
~ 'tloc:1+"11I!;III QC"lIII +"IH : ~ ~: cx:mTcrr 641q ifc;('1: I ('1('q IfU IQf('1('11 t:rJZT "OIT'i"t: >fTLffi I
<t ql~mf1i 'tloC:l+"Ii~ qll!;lIk11 -ffffi 'ill<'11~: ~: ~: ~:, "I'lfrr~ 'tl0C:I<q~:q ~ I
~ "'tloC:lCf)oj: ~ +"I'jJ6lJH ~ 'tlOC:I<>-oq~" ~fqCff6lI \fF1T: ~ ~ QC"lI~('1I: I
i) ~ trctt f%- 0{11<+"I1*l1('1-> ... 2
ii) Cfl": ~ '11'iI'lq II!;: ? ...·2
iii) ~~? 3
iv) orRU: fCf)+"I'fIcl'i ? 3
v) 'i11{'11'i1: fCf)+"I'fI~i ? 5


